GCSE Mock Test 2023

Subject: BIOLOGY |
Board: AQA
Level: Paper 2 (Higher)

Student Name: _

School:

Date: L’( 5, 7.‘%

Score:

Total Marks: 100
Time Allowed: 1 hour 45 minutes.
Instructions:

Use black ink or black ball-point pen.
Use a ruler and scientific calculator where needed.
Answer all questions in the spaces provided.

77
100

Well done! Keep
it up!

If you need extra space for your answer(s), please ask the invigilator for extra
papers. Write the question number against your answer(s).

« Do all rough work in this book. Cross through any work you do not want to be

marked.

NOTE

1. First and foremost, in any exam, attempt all questions without fail. Congratulations for
attempting all questions!
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2. Second, whenever you need to mention pointers, make sure you use numbers or bullets. You
excelled in this area as well!

3. During the evaluation process, | have added some sentences to help you phrase your answer
better. Please look over them to know how to incorporate statements to indicate your knowledge
of the question. This will in turn fetch you more marks!

Overall, | would say you have a very strong grasp of the important concepts. Good luck!
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1) The heat from
the flame is the

stimulus that is

detected by pain
receptors in the

skin.

2) A sensory
neuron then
sends electrical
impulses to the
spinal cord
which
coordinates the
message.

3) An electrical
impulse is then
passed to a relay
neurone in the
spinal cord.

Answer all the questions in the space provided.

QNS

Keeping a finger on flame triggers the reflex arc.

of1]-11) i - 5-

Mention the six steps that occur when a finger is kept on flame.
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n
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In a synapse, a chemical signal is transmitted from which of the following? []
Tick(v') the correct answer.

Mark]

(i) Dendritic end of one neuron to the axonal end of another neuron @

(i) Axon to the cell body of the same neuron m

(iii) Cell body to the axonal end of the same neuron

@xonal end of one neuron to the dendritic end of another neuron

In a synapse, a chemical signal is transmitted from the axonal end of one
E))MOED' nedronwk A

neuron to the dendritic end of another neuron.
convens elokricel TSP T blse oHeclsov \passspley @
Question 1 continues on the next page
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In

What happens to the eye in dim light?

dm

Name the two types g\cflls present in the eye. [2 Marks]
Cove.colls and Koc) cells @
0 \ 1. ﬂ
[3 Marks]
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Urinary bladder S LC]YO N L)Y LA

Urethra \)\)\/\w tha  OYine 3 ‘/{Jlf’f/‘%)

No

0|12].[2

In certain people, kidneys might stop working due to several reasons.
What happens to the body when kidneys stop functioning properly? [2 marks]

Bm o\up C)‘/ gowg}é N HA(; &oaha LOS BN
K@W\M ko \nvmm)y(M L\va«

Yy douov\u3 UY\‘*@%ImJ (,U/ds og/ | mv\w(

Fill in the blanks in the table given below. [4 marks]
Kidney filters blood and produces urine Ureter carries urine from kidneys to the|bladder
Structure Function 0.5
Kidney Break down ess  prakeiny ko ver | yekdaye

Ureter U)\L cube COMELUMlOJ]ﬁL-\/ O @Nﬂ\
1

@ 2
\DV\S QJCC- Lucens \pwtom not  lyokon Jouw\
ol il ko Lrer kg be erofhQ
Explain what kidney dialysis is. O [2 marks]

K\()U‘\‘U"\ O\A&LU\SLS Qﬁ & Prouss %WL\!N

A hUMenn s\m\m ty o hdy\w Blosd.

Luc,bud Jc\mmuq/kn B MO\CMt w

WOS\WA eﬁ?ﬁi{‘ wv\mq QUL m&s Nyegias

k[) ‘L;Y‘E}

Kldney d|aIyS|s is an artificial method of filtering blood to remove toxins and

from the body.
Patients are connected to a dialysis machine which acts as an artificial kidn

excess sybstances

ey to remgve most

of the urea and optimise the water and salt balance of the blood.

Question 2 continues on the next page
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Dialysis fluid contains all the constituents of the plasma ex
To be more specific, the answer should be mineral ions ar

0(2

1]

State the two components of dialysing fluid. [2 marks]

mmm A@W‘k

cept urea
d glucossg.

6.5

Padwe =

HinumL LONS

10

Plasma (X) [T

During

ovulation, the

hormone LH
(luteinising
hormone) is
at its peak.
This hormon
causes the
release of th

0

The figure (Figure 1) given below shows the changes in hormone levels and other

events in the menstrual cycle.

Figure 1

7 18 19 20 21 22 23 24 25 26 27T B

12 13 14 15 16

8§ 9 10 11

& Menstruation

~ 1 G lat 9 sas | iterry ¢ Hormone
w— rogesterons svs Tollicle Stimulating Hormone o= Lutesrmsing Hormone

|dentify the day when ovulation takes place describing the changes that occu
- [2 marks]

Nunlekion tabus p\m,@OV\ dw\i Iy Wlawe
ol is b is \Mql«w . |1

i

e

e

egg from its
follicle in the
ovary. and
this process
is known as
ovularion.

Question 3 continues on the next page
Page b ot 21
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Too much of
growth hormone
in the body leads
to gigantism and
low quantities of
growth hormone
leads to
dwarfism, thus it
should be
released in
optimum
quantity only.

Vasectomy is a
surgical
procedure that
involves cutting
or blocking the
tubes that carry
sperm from the
testicles to the
penis.

Adrenaline is secreted in times of
emergency in the body - it helps in
increasing the heart rate, the breathing
rate and thus increases the amount of

oxygen available.

Give a reason to explain the following: [2 marks]

(i) Adrenaline is secreted in times of emergency

My € Yake 6\”\(}
weeded [;ov fmﬂt ar ﬂ\alf[AL
(i) Growth hormone should be released in optimum quantity only.

E\cc,e,sx omuﬁ/\ L\O!Mﬂm; (aun @H;Prh HML
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brw’rkin:) Yoke.

T

V&Spowst

o|3

Pro Cenm Je.t&

[1 mark]

Wive, Vg |
de)lok»tﬁ

\QM tD \Pracl_pc.l./ WA OV &

Explain what a vasectomy is.
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| 4
What does |IVF stand for? [1 mark]
Tick(v') the correct answer,
(i) In vitro fertilisation /€/> 1_

(ii) In vivo fertilisation
(iii) Invasive fertilisation

(iv) In vivo fertilisation

Question 3 continues on the next page
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Mention the use of gibberellin and ethene in plants. [2 marks]
@ ﬂpU\ "‘f}
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The antibiotic-resistant strain of Staphylodgccus aureus is becoming increasingly
prevalent in hospitals and other healthcare settings.

0|4].(1
Explain how natural selection plays a role in the growth of this strain. [2 marks]

[
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of4]-[2]

What is the goal of developing new antibiotics and alternative treatments for
Staphylococcus aureus? [1 marks]

Tick(v') the correct answer.

(i) To increase the prevalence of bacteria in hospitals @
(i) To reduce the use of antibiotics

(iif) To improve infection control measuregin hospitals

(iv) To treat infections more effectively

L04.|3

How do mutations contribute to evolution? [2 marks]
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Mutations are random changes in an organism's DNA. Some mutations may
result in new traits that are advantageous in a particular environment.
These mutations then lead to gradual accumulation in a population and
contribute to evolutionary change.
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o(4]|.(4 Homo habilis fossils are the first hominid fossils to show
evidence of tool use.
What is the significance of the Homo habilis fossils?

Qnow SOwre, O\r\cp,\j@m 0\/ 401&5%\ \I\Wc

Ve (oM Hu QONL o,u\uj 1e“ove;s euoluaov\ Omc] NC\

[1 mark]

[o]

korad 5e,l LISV TN

0]4].]5 ﬁ)\)wu’é Us to comPoves Em&uu& ‘

What kind of stone tools were used by early humans? [2 marks]

S el I Shoug Sons,

tools  Lotre usu\ \'&ﬂr &S \’\muo.(s) Roavd

Sconetools Cpuc]\o& us;. Q(ﬁ Qf(iw&ﬁhg
Q(’)nr) LkC @

0({4|.|6

i i Lucy and Ardi contributed to our understanding of human
Explain how the discovery of Lucy e

evolution. ‘P‘f . M(H:\ ne

Luau\ O\N) Prdi  waere Sureddeer ol \/\umm(\frim?wux

w\«\»u\/\ owed Us  to (o pov L i

\nowons oyt C&JO\\?‘C«J i~ erms O\( B&@vlt\m,{v
_c\rovockeay is¥ies - ®

10

Lucy's skeleton provided important evidence for the idea that
hominins had evolved to walk upright on two legs.

Ardi's fossilised bones showed that hominins had adapted to
living in forested environments.

Page 9 of 21
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Tissue

culture is a Tissue culture is used to grow plants in less space and short time.

process in

which very 05(.(1

small pieces

of organisms | What is tissue culture? [1 mark]

known as , ' . .

tissues are k 8 whan E\’\L bswe | KQDI )C (A ® 0
grown using

nutrient OW&\V\N&(\L C)C)V\(‘L/d ON S |60 OouOUJ “h ko
media in a Oth[\mﬁhl GUV\UC\Q‘A w\m e

laboratory 0 | 5
space.

Name the four basic requirements needed for tissue culture. [4 marks]
) ODH‘MUW\ Lemper ghive. &

Sterile § O\OB'MUM« CO, lavels ‘ 2

environment

and 5\ W\\M\ums < \UV\\MJN\?

optimum LY\ '

growth W M&M‘&L\_@V_

conditions “{VO\»J@\ 6-‘:\~ Minil Loy Q(wo\bm @
0(5|.3

How have dairy cows been selectively bred to produce higher quality milk? [3 marks]
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DNAis a
polymer
made from
many
repeating
subunits
called
nucleotides.
Each of these
nucleotides
consists of a
common
sugar and
phosphate
group with
one of four
different
bases
attached to
the sugar
base.

o(6).|1

How m@s are there in the human genome? [1 mark]

The human genome contains 1 billion base pairs.

Tick(v') the correct answer.
(i) 1 million
(i) 1 billion

(iii) 10 billion \/®

(iv) 100 billion

Briefly explain what is a nucleotide. [2 marks]

A V\UClQﬂHrlﬁ; 5O Qomfm Y‘«O&bl)lv
Yne broaburm 7 L)OU,L (ocL@ o

)y ®

U AL

Pede Qo Sedaemncw. o
016,13 : ..
Cvkan clhgyackert SEves

Name the process of conversion of DNA into mMRNA. [1 mark]

— 2

NS louer an

Question 6 continues on the next page
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e~ Sy
Draw a Punnett square to show the offspring from a female homozygous dominant for

a particular disease and@ homozygous recessive for the same disease.

0(' _ E):D— M?M @‘F [2 marks]
- ~

bd,*-drc,‘c.%s'\w, . D D
J b D@

g1 Mo | D

S,

|0[6L. 5

What would be the probability that the offspring shown in the Punnett square will have
the disease? [1 mark]

00 o H/
Hy

L"/L(’; ]/(‘: (“: )OO\/n@OV ‘

Question 6 continues on the next page
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Genotype is the combination of alleles that an
individual possesses for a specific gene.

On the other hand, phenotype is the combination of
the observable characteristics or traits depicted by
ammindividuar,

0{6]|.|6

Describe the difference between phenotype and genotype. @ [2 marks]
’ wh Lw
P\/\u\otu pe 14 e DL\M Q [ Inovacker fﬂhc&_
\] ]
Wiohavens %P;Y\O{'L\J\ pe GMJ;LZ% Hmﬁ ‘ 2

C}Lx‘)vw [k e
o|6]. I 7
The offspring | State three main conclusions derived from Mendel's work. [3 marks]

rereioy | Meddl choued s e & Shas

unit' from -
each parent. (’)% SD\(\vq ve (LUDQ,V‘A(MJC oW %’\L U\U‘”—‘-
Hereditary 3

units can be Ox ‘B/\Q)Y ‘DaVM\b@ OM() UNJ}D Dmk‘%}w% ‘ 2

dominant or
recessive, X é\w@(\(}(}&\% (BN M (}MA‘L& k fm (XD\V\PLL

where the

dominant (6(;1'/_55})(, (LV\C) CJOW\WW\\J(. WQ/§ S\M)JJ_S e

characteristic

is always {D\O)Cgmg 0\(‘ %,\L M&Lu\\ (L\m@({,kmbkéﬁs ()I 7

expressed

when &&\ g?w\s\ W o ptent - D: Yl du) ¢
t
e Q \Wow \JON\uk\bo‘\ (VJUSVARY (‘AW’OY\(C} Okk"- S\(H’W\j
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Huntington's disease is a genetic disorder caused by a dominant allele (H). The
pedigree given below shows the inheritance of Huntington's disease in a family.

I

N~ SV
ol Cev ol

N mﬁ_““ D

|

0|7 1
State the genotype of the male present in the 1st generation. @ [1 mark]
.\M\_‘Eemf@\ \(\()W\O‘Ll.\l)ciou § YRLASS Ive ((/\ L\\ .

o |7 |. 2

A female with Huntington's disease could have one of two genotypes. State the two

genotypes possible for a female with Huntington's disease. [2 marks]

homowuapy  dome inant U,Jt U()@Qr

\\UGU Odzﬁchoos LH\I\'\ @

H |
b e .
O Hh o uls

Question 7 continues on the next page
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ﬁwr;tir;]de::i?hus | bﬂ““ bewal  in ‘IV&% WQVW‘O“ MK,
disease, has \)ﬂ \M‘*&m_wuoug\ﬁ% MN\ K) %V\LM %I @
at least one 3 oy

dominant
allele. OX $

Individuals

without the
g:\?: fv?/c;N ! Jt\ms mostppss MG Bt okl v l5 Muo g ava D
. - -

recessive ‘
alleles - hh. I/,LOP 0"('.Spl’il\3 \,qv.t. dnec\lc "~ h‘%‘u \"‘:L ‘ﬁh' - _-_-.SSO/

T = (IDBLY h b TN

) - =31 \'«» e
: o o Iy
W~ l &‘\n- %w il \’“+J
[2 marks]

0(7|.]|3

Explain which Huntington's disease genotype the female in the 1st generation must
[3 marks]

OWsonm B w\‘d/v “isease Ml
P, QM 1S \/\m\omqm\ Vecesse LL»\

What would be the genotype and the phenotype of the offspring

The Yoroky e ol Hﬁmm 7 woold b
\J\Q\Mm,umoub chm}b@k\w\ T\NL Ie\»m@ W\lP«\,

Way\ ¢ \S{, G S&B\w waoj*h \Daéwﬁm& w\*‘:\ "o
Q\"V\‘c \M\QO“‘S Lo, @
0)7 l |5
Explain why the AB blood group in humans shows codominance. [2 marks]
When two alleles )
of the same genely M \’c \$ \DQC(IU\JL \0() ko

are expressed
simultaneously|it

&MW; \E (,l/\wcutbeyut\tb -

]

is known as
codominance.

v
M\W (Kye (’DMM(M(J\V\ W%Ol\('t‘)

In the ABO blood™

groupingin 1 ea nd Yok ok oww Jow\m t at/of
uman blood, M, JOIM:"W"{
allele A and alidle Oklaars « I one Wos only

10

B are dominant
over allele O and%,\q,w
are expressed as
AB when present
together.

PADNA Aww\a\f\b T ho oo U Q/&j W9 @qw\f S0
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An
ecosystem is
defined as
the
interaction of
a community
of living
organisms -
biotic
components
with the
non-living
abiotic
components
of their
environment.

U

Animals in an ecosystem in certain cases compete for resources.

o(8 .1

What is an ecosystem? [1 mark]
A K Al \V\Wd—@{kbtj N SU\\]chw

CLOSU S kR
|
(owxpv{\ed o clatotic i botin CompOmnInE g

0(8.]2

Mention any two major resources animals compete for in an ecosystem.

()@

[4 marks]

A ‘(\\\W\O}VB (Ompeie QO v (IO Q
& | @
()N\(k Cookoy . CQMIVDQSCK/ fcov ‘%eﬂﬁkwv})

Animals also compete for mates

Explain the three main levels of organisation of a food chain. [3 marks]

Bibe Prodaervs gre ok the  bobgm
(\\lf’c,\w, c“\ooJ chotn  oue  dusvivanghs
ow e =S| picalln 8 usd X
O gonsms, thak  Use ‘?\\Ok(\}g\({v&ﬁj ko W cmb(f
emr% - Pvimnﬁ (DKo €6k (OO

Cr (‘(oqd, Sower, Ko %/o\‘w\ Yoy

oS

eneveg y -
Y J

SCOOV\CJOWU\ CanSuUmers el [Py AvY COWNS 1) WA

biomess o

. TN \ -,
%V‘\cvxs tanmoM i DP,COHOO—BQ”’ WP

{%L\;L(Jb_, nvt FI‘UV\\‘;_S bogla
Question 8 continues on the next page
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An eagle eats a mouse. Mention their respective levels of organisation in a food chain.

[2 marks]

—

Mau . moolao\oekummb\}i\) m

\\Oﬁwwu) ONSUMevsS gao\Lu UUOU\C) \o(,
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9.5
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Leaves are
reduced to
spines to
reduce
transpiration
al water loss

Plants in deserts have adapted to the harsh conditions present there.

o(9|.|1

State any four adaptations that desert plants have to survive in hot and dry
environments. [4 marks]

D&Scﬂc nlaﬂ\t\ LWQJ YO0 ts JC]/\(H: 40 61/
widL oS woky 1 cemre - The ' @MD& oywc@
Ntk o\r Voots mes MaxtOm urddv ey L.

Cu 'g'.C-LlJ

ﬂ)&swt f[wts Of N _[deﬁ (ﬂn)ajeb%db Lo
bt Loaker {B:g.\osb.@

De),evt nlod\t( lrm/o Q d/\»o’(l/\ QU [m.y/ ) 3.5
@e’&m&; O&lfm SOI\L«!S (@@) IOV{’A/mb

@rufokoo fv@.\,\ lmmm G &

esert \cuf\)cs m\/\;\ \o\oom« QOWJ \/J\MJ« Vquows

19|z bo\,w\\-, VGYU OP ookl &)

Name any two desert organlsmithat are well adapted to survive there.  [2 marks]

2

Lk —

Cackus, .

Cuvwe[ —
5.5
06
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The graph (figure 2) given below shows the atmospheric carbon dioxide amounts and
emissions every year.

Figure 2
Atmospheric carbon dioxide amounts and anhual emissions (1750-2021)
Pir
S
f o
{ ©
fi ®
4 20 g
:‘f 1
/
AF" 10
i ———— - . 0
1750 1780 1810 1840 1870 1900 1930 1960 1990 2020
year
110 1

Explain the general trend displayed in the graph.

[1 mark]
Prs he u\xjems o the Con Cenkygklon OV
(0 in Okmosphove ONd OMisSene
KILIBE

—_—

N RO

Name any three activities that increase carbon dioxide emissions.

[3 marks]

De, \/ov e Scokion @

|
_EXU OO A

/,Pfoc,%so_y wakoly = lndwoevial Prdeesy
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©
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Question 10 continues on the next page
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To provide
land for crop
production
To provide
fuel and
paper

To provide
land for
human
settlements
To provide
land for
quarrying

=

State any three reasons why deforestation is performed. [3 marks]

r

DL@(WL\HC\A OCLANS — 0S Woed 1)

0. Vol uaz‘_otu (Ls ouvieQ, 6\1110 (A be Us%)

o wolayL \\OVO(AHG(,& @

lowd S Clogred ﬂc’)v’ havsig  Gnd Yoadf ., @
| J

<§Y\Lomc) Uy dasded ((ov Ca,k’ob_, mhc,l/ufv\j/ .‘(avu

Soil erosion
also increases
the chances of]
flooding since
the top soil is
now
weakened.

Soil erosion is one of the major consequences of deforestation. Explain what happens
in soil erosion.

Whang  the oo ¥ uPrombu\ us
bveo,  ¥oou we willed ok cauvsens

\ .
%mw the 0L
o onskaln(y

Lackh ol Dreey thb0  wansin
ror  thave (g pthunes Moy cling
g okty 1y hok ausnv\}\ﬁ ; ﬂv‘ (O8L>
6. Col[a?s% n Bre A0S Skt and veslles
W g oV the
j{)\;\ soabsion B s Q\Q.\h'l:o\[o\tg g cpps

[4 marks]

J
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B

n ok l@ :
\
Question 10 continues on the next page

Page 20 of 21



hp
Stamp


1]0(.|5

What do you think are three ways in which an individual can help in controlling global
[3 marks]

D Winimise. use OF Pms:

D\’\m e bome (65 ond Jow't aesle

Use electricity wisely

@lt’n\:’ﬁ\d\v&i\) P
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